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P3-13

BfiE) | EBIETK (D) | El=E (EH/HK) | XK EFE

06:45 180 70.0 5 BR1%@06:45 (KBfEREE)
07:25 180 70.0 i B2i1&@07:25 (KB{EREE)
08:05 180 70.0 5 B1%@08:05 (KRFERE)
09:00 180 70.0 i BR1%@09:00 (K FHIERLEE)
09:45 180 70.0 i B31%@09:45 (KFERHE)
10:25 180 70.0 5 B1%010:25 (RRAERE)
11:05 180 70.0 i RRi%e11:05 (K BERKS)
12:00 180 70.0 i BRi%@12:00 (FKPIERSE)
13:10 180 70.0 R B1%@13:10 (KRFEREE)
14:10 180 70.0 R BRige14:10 (kKPHEREE)
14:55 180 70.0 i BRi%@14:55 (RPAIERSE)
15:50 180 70.0 i RR1%@15:50 (FRPHIERLES)
2it]2160.0 (12%) 840.0 3EHKEC: 1560.0, PH: 6.0

L)ﬂi@iﬂ%ﬂjt& (180. 0) 5 fA (152. 0) I FF, FIEEH T % BREERSE XER
ZRIASCPRIERES3. 0 ml.



P3-13_0, Day=5 (2025-04-05)

V1, VOBRV, ET - VI, VO, FVI, FVO, FRV, ad jFRV, ET

60
660

40 45

20 -

40
I Warning: lcol [FVI',| "FVO’'] missing

( o v

100 A FRY, reaie

50 -

FRV (ml plant-1)

- 800

- 200

1.0

Warning: lcol ["WC1',  "WC2'] missing

TargetEC=1200. 0,  TargetSetEC=1560. 0

Warning: lcol ['ECB’,| 'ECC’'] missing

TargetPH=6. 5, TargetSetPH=6.0

Warning: lcol ['PHB’,| 'PHC’'] missing

150 A

100 -

ET (ml/hr/plant)

50 -

I
200 4 ByInit @D8 (3:02; ET=507 Fg=770.0 Ro=216.0

| S N S A .

o“
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1 2

- 1000

- 500

4 5 6 7 8 9 10 11 12 13 14 15 16

21

22

23

200

™
T

BB | B
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H 5 5 i H H A B 5 G A

E3
B

E3
B

ES
5]

1000

100 -

50 -
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150 { ByEt @D5 18:06:

ET=646 Fg=498.0 Ro=nan
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150 +—ByWoFv @D8

100 -
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50 -

I
q3:02: ET=552 Fg=840.0 Ro=241.0
l
I
I
1

2

1.0 p——p———
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- 500

0.8
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0.4+
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2808 -
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| _obs
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L 600

£
- 400 ~
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m=485, FV0=0

66
—— MW —— MW
65. 6
64
65. 4
62
65. 2
60
65. 0
58 - T T T T T T T
500 600 700 800 485 490 495
m=690,m FV0=0 m=720,m FV0=0
63.4 - 62. 25 -
. o MW - MW
63. 2 1 62. 00 A
63.0 61.75 -
62.8 1 61. 50
62. 6
61. 25 A
62. 4 1
61. 00 A
62. 2
T T T T T T
690 695 700 720 725 730
m=485,m FV0=0 m=575,m FV0=0
1.0 1.0
0. 8 A 0. 8 A
0.6 - 0.6 -
0.4- 0.4 -
0.2 A 0.2 -
Warning: col ["M_E’] missing Warning: col ["M_E’'] missing
0. 0 T T T T O- 0 T T T T
0.0 0.2 0.4 0.6 0.8 1.0 0.0 0.2 0.4 0.6 0.8 1.
m=720, FVO0=0 m=810, FVO0=0
1.0 1.0
0.8 ~ 0. 8 1
0.6 - 0.6 -
0.4~ 0.4 -
0.2 A 0.2 -
Warning: col ['M_E’'] missing Warning: col ['M_E'] missing
0. 0 T T T T 0- 0 T T T T
0.0 0.2 0.4 0.6 0.8 1.0 0.0 0.2 0.4 0.6 0.8 1.

65.

64.

64.

64.

64.

59.

99.

58.

58.

958.

0

m=575, FV0=0

—0—

M_W

575

5é0 5é5
m=810,n FV0=0

—0—

M_W

810

8%5 850
m=630,n FV0=0

Warning: col ['M_E’'] missing

0.2 0.4 0.6 0.8

64.

64.

63.

63.

63.

m=630, FV0=0

—0—

M_Ww
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T
635 640

Warning: col ['M_E’] missing

0.2

T T
0.4 0.6 0.8

m=690, FV0=0

Warning: col ["M_E’'] missing
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P3-13

LORGERLATE (210. 0) 5 4R (146. 0) R FF

ZRIASLPRIERE101.0 ml.

BriE) | EBIATK (FD) | EHE (EH/HK) | XK R

06:45 210 70.0 |Z=& ’R1&@06:45 (KAL)
07:40 210 70.0 |Z =& B1%@07:40 (KRFERE)
09:05 210 70.0 1] BR1%@09:05 (KBfEREER)
09:55 210 70.0 ] BR1%@09:55 (KA{EREEE)
10:45 210 70.0 Iz RRi%@10:45 (K FHfER%ER)
11:30 210 70.0 1] BRige11:30 (kAFEREE)
12:30 210 70.0 1] RRi%@12:30 (KR AHEKS)
13:40 210 70.0 A RRi%@13:40 (KBERKS)
14:40 210 70.0 |Z & Bi%e14:40 (REERSE)
15:40 210 70.0 |Z & B2i1%015:40 (KREAEHE)
23+ 2100.0 (10)%) 700.0 323 %EC: 1560.0, PH: 6.0

FATREH T % ME#ER S Z XER




P3-13_0, Day=4 (2025-04-04)

60

40 -

20 -

I\ 1

100 A

50 -

FRV (ml plant-1)

1.0

Wb, VEPFRV, ET - VI, VO, FVI, FVO, FRV, ad jFRV, ET 805

F

I
n\l P W
(A}

- 800

660 707
91|
40
Warning: lcol [FVI',| "FVO’'] missing I

- 200

Warning: lcol ["WC1',  "WC2'] missing

TargetEC=1200. 0,  TargetSetEC=1560. 0

Warning: lcol ['ECB’,| 'ECC’'] missing

TargetPH=6. 5, TargetSetPH=6.0

Warning: lcol ['PHB’,| 'PHC’'] missing

ET (ml/hr/plant)

]
Bylnit @D8 03:02;: ET=517 Fg=640.0 Ro=195.0
I
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1
——o——0—¢—=o
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150 S

100 A

50 -

ET (ml/hr/plant)

%%z |%=| A | #5 | A5 | A5 | BA | BA | FH | FA | PH [ RE [ BB [ BB [R5 [R5 [ R [R5 [R5 | RS | R5 | AE | R

ByEt @D4 18:06: ET=376 Fg=707.0 Ro=nan
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- ?OOO

100 A
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1.0 A
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- 500
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1500 - o | _obs
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FRV

cumET (ml/plant) cumET (ml/plant)

cumET (ml/plant)



64

64.

63.

63.

63.

m=485, FV0=0

—0— MW
66 66 -
65
65
64
63 - 64 -
62 63
61
T T T T T T T T
500 600 700 800 900 485 490 495
m=690,m FV0=0 m=720,m FV0=0
.2 - MW 64. 0 - MW
63. 8 -
0 -
63. 6
8 -
63. 4 -
6 -
63. 2
4 63. 0
T T T T T T
690 695 700 720 725 730
m m=485,m FV0=0
0 1.0
8 0. 8 1
6 0.6 -
44 0.4
2 0.2 -
Warning: col ["M_E’] missing Warning: col ["M_E’'] missing
0 T T T T O- 0 T T T T
0.0 0.2 0.4 0.6 0.8 1. 0.0 0.2 0.4 0.6 0.8 1.
m=690, FVO0=0 m=720, FV0=0
0 1.0
8 0. 8 1
6 0.6 -
4 0.4 -
2 0.2 -
Warning: col ['M_E’'] missing Warning: col ['M_E'] missing
0 T T T T 0- 0 T T T T
0.0 0.2 0.4 0.6 0.8 1. 0.0 0.2 0.4 0.6 0.8 1.

0

65.

65.

65.

65.

65.

64.

64.

63.

63.

63.

62.

62.

m=575, FV0=0

—0—

M_W

5;30 5é5
m=810,n FV0=0

—0—

M_W

81I 5 850
m=575,n FV0=0

Warning: col ['M_E’'] missing

0.2

0.4 0.6 0.8

m=810, FV0=0

e

Warning: col ['M_E'] missing

0.0

0.2 0.4 0.6 0.8

1.

m=630, FV0=0

65. 00

64. 75

64. 50

64. 25

64. 00 -

63. 75 A

—— MW

630

61155 64I10
m=870,n FV0=0

62.

62.

62.

62.

61.

61.

—— MW

870

8%5 8é0
m=630,n FV0=0

Warning: col ["M_E’'] missing

0.2

0.4 0.6 0.8

m=870, FV0=0

Warning: col ['M_E'] missing

0.2 0.4 0.6 0.8
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0



